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A SERR2TAES H 1 HEAE
K4 _ EX _ A _ T - 18572
g 5 g B 1 & i ¥ i | 5 | *
ATBA 3,018 228 3,690 7 2 5 1,485 60 1,425 2,426 166 2,260
[ = 379 119 260 - - - 199 18 181 180 101 79
2l R 73 14 59 1 1 - 10 - 10 62 13 49
# G| 51 2 49 - - - 21 - 21 30 2 28
ESU RO 52 - 52 - - - 9 - 9 43 - 43
R G 14 1 13 - - - - - - 14 1 13
# | 3,055 84 2,971 5 1 4 1,087 39 1,048 1,963 44 1,919
Bl # il 12 - 12 - - - 3 - 3 9 - 9
& #E O W 5 1 4 1 - 1 1 1 - 3 - 3
i3 Fifi 277 7 270 - - - 155 2 153 122 5 117
BEMBE (K7%) 68 - - - 29 39
BEHME R 151 - - - 92 59
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A SERR2TAES H 1 HEAE
K4 _ EX _ A _ T - 1872
it B | i B 1 & i ¥ i | 5 | *#
AHBAR 1593 80 1513 - 750 35 715 843 a5 798
[ = 106 15 91 68 - 68 38 15 23
2l R 115 4 111 82 - 82 33 4 29
# G| 7 1 6 1 - 1 6 1 5
B O = 125 1 124 89 - 89 36 1 35
+ W FE A 64 - 64 43 - 43 21 - 21
R B B G 1,130 56 1,074 451 35 416 679 21 658
B fr B # W 26 3 23 9 - 9 17 3 14
& O#E OB W 2 - 2 2 - 2 - - -
B X & 1 - 1 - - - 1 - 1
X OE OH W 14 - 14 2 - 2 12 - 12
fi Rl 3 - 3 3 - 3 - - -
REE 199 49 150
BWmE(KE) 6 - 6
BWME(RKE) 10 - 10
RBREXT(XH) 5 1 4
REL(HH) 15 3 12
BE-REWHMEA (KB 341 331 10
BE-REWE (K 15 6 9
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A = SERR2TAES H 1 HEAE
N = EN ASTA TIST
%5 Ha ] = i B 1 & Ha ] = i | 5 | *#
AHBAR 11,400 4,637 6,772 13 29 14 11,260 4,557 6,703 106 51 55
® £ 502 396 106 - - - 499 394 105 3 2 1
il % 5 4 4 - 2 2 - - - - 2 2 -
# G| 503 397 106 1 1 - 499 394 105 3 2 1
ESU RO 121 105 16 2 2 - 119 103 16 - - -
58 B W 2 2 - 2 2 - - - - - - -
# | 8,738 3,465 5,273 33 22 11 8,627 3,403 5,224 78 40 38
Bl '%ﬁz il 7 2 5 - - - - - - 7 2 5
* O O W 497 - 497 2 - 2 490 - 490 5 - 5
= % B o 97 - 97 - - - 97 - 97 - - -
xOE O OH W 81 1 80 1 - 1 80 1 79 - - -
i3 Fifi 857 265 592 - - - 849 262 587 8 3 5
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A = SERR2TAES H 1 HEAE
N = Ei ASTA TIST
B5 | v 1 & z | T 1 5 1 &
ATA 7,049 4,393 2,656 55 a5 10 6,636 2,131 2,505 358 217 147
53 P 261 242 19 - - - 260 241 19 1 1 -
il % e 8 8 - 3 3 - - - - 5 5 -
# G| 297 277 20 1 1 273 255 18 23 21 2
EU R 56 54 2 3 3 - 49 48 1 4 3 1
R A G 7 6 1 3 3 - - - - 4 3 1
# | 5,487 3,476 2,011 42 35 7 5,186 3,285 1,901 259 156 103
Bl '%ﬁz il 4 2 2 - - - - - - 4 2 2
& #E O W 262 1 261 3 - 3 249 - 249 10 1 9
= % B o 29 - 29 - - 29 - 29 - - -
xOE OH W 43 3 40 - - - 43 3 40 - - -
i3 Fifi 595 324 271 - - - 547 299 248 48 25 23

gt [k



=%

OFEEFIR
A ERR2TAES 1 HHI(E
B B S = _ E 1]
X457 B NS FAST. (INSTDF)
i 5 [ % 5 [ % % S RS
ABER 6,941 4,959 1,982 3,321 1,421 1,378 486 260 75
% £ 135 117 18 79 11 36 7 2 -
B ® E 112 100 12 85 8 13 3 2
# IS 170 154 16 78 13 53 3 23 -
B g 15 13 2 - - 13 2 - -
& 8 14 14 - - - 14 - - -
# i 5,776 4,224 1,552 2,970 1,175 1,043 329 211 48
By # ;@ 6 4 2 - - 4 2 - -
*® A 169 - 169 - 113 - 42 - 14
&7 B B 25 - 25 - 17 - 1 - 7
i Fifi 519 333 186 109 84 202 97 22 5
®BE 2,335
BRI Rk 2 TAE BT %&%ﬂxpﬁﬁi& )
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R % | & 1 95 | & 1 5 [ &
RigEE 2,658 996 1,662 29 17 12 2,616 974 1,642
5% £ 24 13 11 - - - 23 13 10
2 . =2 31 26 5 1 1 - 30 25 5
# IS 18 12 6 - - - 18 12 6
ESl O - - - - - - - -
55 ¥ - - - - - - - - -
# hi 1,882 682 1,200 26 16 10 1,845 661 1,184
By # G - - - - - - - - -
*® E W 44 - 44 1 - 1 42 - 42
7% 7 B B 14 2 12 - - - 14 2 12
EE 13 - 13 1 - 1 12 - 12
i Fifi 632 261 371 - - - 632 261 371
®5BE 90 3 84
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e 7w | & 1 8 [ & F 1 2 [ &
AHHE 1,015 499 516 155 34 121 860 465 395
HEE 2,762 1,618 1, 144 770 473 297 1,992 1,145 847
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HAT A SERR2TAES 1 HBAE
N BB INST FLAT
i 7 | & T T 1 5 [ &
AHHE 102 35 67 - - - 102 35 67
HEE 83 18 65 - - - 83 18 65
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